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METHOD
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Select one correct answer for each of the questions in the test and press the
Finish button at the end. The answers will be validated automatically.
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FINISHSCORE

How many solutions do the following equations have?

1. 2 · 9x − 6 = 4 · 3x

exactly one
solution

exactly two
solutions no solutions

2. 3x − 10 + 32−x = 0

3. 32x − 6 · 3x = 27

4. 9x + 2 · 3x − 3 = 0

5. 22x = −2x − 1

6. 42x+1 = 17 · 4x − 4

7. 3x = 2 + 3 · 32x

8. 49x + 9 · 7x + 14 = 0



You can go celebrate!You are the champion!You outdid yourself today!Awesome! Keep it up!Wow! Do your friends by any chance call you
Wolfram or maybe Alpha?

It almost couldn’t have been better. Almost.A small step remains,
next time will be glorious!

Great. Next time you won’t make any mistakesYou’re almost rocking.That’s like when you end up second in a
competition when you could have won it.

Don’t worry, your result is more than half correct.Hang in there, there is space for improvement.It’s not bad, but you can do better!You understand this a bit,
but you still need to practice.

Try again, practice makes perfect!You got it. Don’t throw in the sponge!You may not be a future Fields Medal laureate,
but you can do better on this test.

You made it,
but there’s still room for improvement.

Just a little better and you will be average.That was a close shave! Study more, next time
you might not be that lucky to pass.

Let’s pretend it never happened.There was a time
Einstein couldn’t count to 10 either.
This is like a foreign movie to you;

you still need subtitles.
Do you know that you have to click

on the right answer?
The awkward moment, when the only thing on your

exam you know is your name.

Correct answers:




